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ONE-STEP EQUATIONS APPLICATION I

Remember the questfions fo ask yourself as you solve real-world problems:

Does your solution
make sense in the
context of the

problem?

What information

. What are you solving for?
are you given?

Practice seffing up an equatfion for each of the situafions below. Do not solve.

1. The average cost of a school lunch today is $4.35, which is $2.85 more than the average cost
of alunch in 1990. What was the average cost of a school lunch in 19907

a. What does the variable represent?

b. Wrife an equation:

2. Your liftle sisfer is too small fo sfand on the scale. You decide fo gef on the scale holding her
and find your combined weight fo be 112 pounds. You know thaf you weigh 94 pounds. How much
does your little sister weigh?

a. What does the variable represent?

b. Wrife an equation:

Practice seffing up an equation and solving the real-world situafions below.

3. The charge for a microwave repair was $81.21, including tax. If the tax was $6.70, then how
much was the repair?

I ¥NOW: I NEED TO KNOM:

PLAN AND WORK: SOLUTION:

©Maneuvering the Middle LLC, 2015



4. According fo CBS, the average cost of a Super Bowl ticket in 2010 was $3,509. This is $441

less than the cost of a 2015 ticket. How much was a ticket in 20157

I ¥NOW:

I NEED TO KNOM:

PLAN AND WORK:

SOLUTION:

5. A fence surrounds fwo sides of a backyard. The fotal length of the fence is 86 feetf, with the
longest portion measuring 51.5 feet. What is the length of the second side of the fence?

I ¥NOW:

I NEED TO KNOM:

PLAN AND WORK:

SOLUTION:

6. A skyscraper in Dubai is 2,722 feetf high. A news station antenna in North Dakota measures
659 feet shorter than the Dubai skyscraper. How tall is the news station antenna?

I ¥NOW:

I NEED TO KNOM:

PLAN AND WORK:

SOLUTION:
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